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— \ Linearized knot diagam

\} /381112910276154

Solving Sequence

¥/ 59—»6%10 712»4*’1?8?11?3~>2%>Cl,c77010
A knot diagranﬂ C12 8 11 3 C2

Ideals for irreducible component#ﬂ)f Xpar

I =(—u™+3u™+  +4b—1, —uP +3u™ + - +4da+3, " 4+ fu—1)
IY=0b-a-1,a*+2a* +3a+1, u—1)

* 2 irreducible components of dim¢ = 0, with total 77 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
It = (—u™+3u"+- . -+4b—1, —u"3+3u"?+-.-+4a+3, u™—4u™3+. - -+u—1)

(i) Arc colorings

as

0
ag = \u
1
ag — u2
—u
aio =\ —ud +u
—u?+1
a7: _u4+2u2
1,73 _ 3,72 3
1Zu _3Zu - 1§u_7
ap = \Ly™ 372 4152 1
17,73 49,72 | . _ 1 19
ay = <45u73 £u72 N %u+94>
21,73 _ 57,72 4 Tu4 18
o= (i o TR
ud —2ud +u
as = \u” — 3u® +2u® +u
—u'® 4+ 7ull 4+ —6u—1
allz iu73_%u72+.._1745u2+i
—75u73+6§7u72+~- _oy 19
=\ g 4
( Ly L5y 5y — 3 >
= |\ 17773 _ 3%, 72 9 95
a2 U Ut qut g
(ii) Obstruction class = —1
(iii) Cusp Shapes = 63u™ — 333472 4 ... — 24 + 101



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,cs W™ 4 210" + -+ 848u + 64
C2,C7 a4 12048
€3 u—2u™ . —60u—9
C4,C11,C12 W+ —6u—1
Cs5,Cg, CY w4 B tu—1
10 u™ +18u™ + - + 560u + 49




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,cs y™ 59y + - — 36096y + 4096
ca, C7 Y™ —21y™ 4 ... — 848y + 64
€3 y™ —6y™ + -+ 162y + 81
C4,C11,C12 y 66y - — 14y + 1
C5, Cg, Co Y™ — 60y 4+ 1Ty + 1
c10 Y™ 6y™ 4 -+ 49882y + 2401




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
u = —0.982931 + 0.3516707
a= 1.29013 — 1.447881 —5.40881 + 1.484881 0
b= —0.114226 — 1.3466107
u = —0.982931 — 0.3516707
a= 1.29013 4 1.447881 —5.40881 — 1.484881 0
b= —0.114226 + 1.3466107
u = —0.114338 + 0.8776181
a= 1.79001 — 0.302341 0.40081 + 10.709401 0
b= —0.29499 — 1.398161
u = —0.114338 — 0.8776181
a = 1.79001 4 0.302341 0.40081 — 10.709401 0
b= —0.29499 + 1.398161
u = —0.096801 + 0.8663281
a= 1.151770 — 0.4733521 5.61875 + 6.968021 0. —6.742951
b= —0.736562 — 0.2422067
u = —0.096801 — 0.8663281
a= 1.151770 + 0.4733521 5.61875 — 6.968021 0.4 6.742951
b= —0.736562 + 0.2422061
u = —0.841922
a= 0.589364 —1.16434 —11.0700
b= —0.325299
u = —0.071633 + 0.8374607
a = 0.325108 — 0.3960101 3.72265 4 3.075501 0. —1.962121
b = —0.289957 + 0.8085801
u = —0.071633 — 0.8374607
a= 0.325108 + 0.3960101 3.72265 — 3.075501 0.+ 1.962121
b = —0.289957 — 0.8085807
u = —0.032962 + 0.8233751
a = —0.347239 — 0.5442851 3.87638 + 2.848261 0. — 3.676081

b= 0.256055 4 0.912970]




Solutions to I} vV—1(vol ++/—1C5) Cusp shape
= —0.032962 — 0.8233751
= —0.347239 + 0.5442851 3.87638 — 2.848261 0.+ 3.676081

= 0.256055 — 0.9129701

0.011012 + 0.8100211
—1.250280 — 0.4864221
0.733701 — 0.2068361

6.08567 — 0.957651

3.69454 + 1.256121

0.011012 — 0.8100211
—1.250280 + 0.4864221
= 0.733701 + 0.2068361

6.08567 + 0.957651

3.69454 — 1.256121

= 0.038683 + 0.7995601
= —1.97178 — 0.136201
= 0.294669 — 1.3792501

1.05738 — 4.681031

—0.94722 4 2.511961

= 0.038683 — 0.7995601
= —1.97178 4+ 0.136201
= 0.294669 + 1.3792501

1.05738 + 4.681031

—0.94722 — 2.511961

—0.623280 + 0.4908741
—0.097681 4 1.2801101
—0.185972 4 1.3888201

—6.53161 — 2.000101

—10.45886 + 0.1

= —0.623280 — 0.4908741
= —0.097681 — 1.2801101
= —0.185972 — 1.3888201

—6.53161 + 2.000101

—10.45886 + 0.1

= —0.138267 + 0.7668181
= —0.172017 + 0.5802141
= —0.051081 + 1.3972501

—2.82199 + 2.497181

—4.67442 — 3.516481

= —0.138267 — 0.7668181
= —0.172017 — 0.5802141
= —0.051081 — 1.3972501

—2.82199 — 2.497181

—4.67442 4 3.516481

= 1.229430 + 0.0603131
= —0.812751 — 0.9793821
= 0.261875 — 1.2353001

—5.67724 — 3.540751




Solutions to I} V—=1(vol ++/—=1CS) Cusp shape
u= 1.229430 — 0.0603131
a = —0.812751 4 0.9793821 | —5.67724 + 3.540751 0
b= 0.261875 4 1.2353001
u= 1.23207
a = —0.416426 —1.89563 0
b= 0.710023
u = —1.156710 + 0.4491941
a= 0.368328 4+ 1.0401507 | —2.79362 — 5.97206/ 0
b= —0.28561 + 1.386771
u = —1.156710 — 0.4491941
a= 0.368328 — 1.0401507 | —2.79362 + 5.972061 0

b= —0.28561 — 1.386771

u = —0.447414 + 0.6108831
a= 187368 —1.207721
b= —0.22452 — 1.396791

—5.97032 + 6.072951

—8.10796 — 7.738621

u = —0.447414 — 0.6108831
a= 187368+ 1.207721
b= —0.22452 + 1.396791

—5.97032 — 6.072951

—8.10796 + 7.738621

u = —1.174400 + 0.4270181

a= 0.406561 — 0.0054701 2.31230 — 2.336831 0
b= —-0.716781 + 0.2201711
u = —1.174400 — 0.4270181
a= 0.406561 + 0.0054701 2.31230 4 2.336831 0
b= —-0.716781 — 0.2201711
u = —1.250100 + 0.0505581
a= 0.58611 + 1.346821 —2.76802 + 1.426711 0
b= 0.502125 + 0.2906731
u = —1.250100 — 0.0505581
a= 0.58611 — 1.346821 —2.76802 — 1.426711 0

b= 0.502125 — 0.2906731




Solutions to I3

V=1(vol + y/=1CS)

Cusp shape

= —1.207660 + 0.3871611
= 0.908549 — 0.4965501
= —0.200242 — 0.8785271

0.234639 + 1.3260601

= —1.207660 — 0.3871611
= 0.908549 + 0.4965501
= —0.200242 + 0.8785271

0.234639 — 1.3260601

= —1.249840 + 0.2529007
= 1.62462 — 2.52638]
= 0.080915 — 1.3772201

—5.96096 + 0.850341

= —1.249840 — 0.2529001
1.62462 + 2.526381
0.080915 + 1.3772201

—5.96096 — 0.850341

1.237920 + 0.3452481
—0.454616 + 1.0147801

—2.63807 4 0.555721

= 1.237920 — 0.3452481
= —0.454616 — 1.0147801
= 0.303590 — 1.3603901

—2.63807 — 0.555721

= —1.234510 + 0.3650401
= 0.701470 — 0.1984061
= 0.225501 — 0.8027391

0.16896 + 1.430861

= —1.234510 — 0.3650401
= 0.701470 + 0.1984061
= 0.225501 + 0.8027391

0.16896 — 1.430861

= —1.307020 + 0.0544391
= —1.03660 + 4.233941
= 0.206167 + 1.3972701

—8.12854 4 4.091931

= —1.307020 — 0.0544391
= —1.03660 — 4.233941

u
a
b
u
a
b
u
a
b
u
a
b
u
a
b= 0.303590 + 1.3603901
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b= 0.206167 — 1.3972701

—8.12854 — 4.091931




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

1.260470 + 0.3574481
—0.411022 — 0.0034291
0.747744 + 0.1769051

2.21416 — 3.243511

1.260470 — 0.3574481
—0.411022 + 0.0034291
0.747744 — 0.1769051

2.21416 + 3.243511

—1.277440 4 0.3592961
= —0.58395 + 1.322991
0.721895 + 0.2369511

2.07943 + 5.165911

—1.277440 — 0.3592961
—0.58395 — 1.322991
0.721895 — 0.2369511

2.07943 — 5.165911

—0.394203 + 0.5452081
0.829429 — 0.6955371
= —0.569066 — 0.2739171

—0.65164 + 3.143681

—3.24051 — 8.937501

—0.394203 — 0.5452081
0.829429 + 0.6955371
—0.569066 + 0.2739171

—0.65164 — 3.143681

—3.24051 + 8.937501

1.290360 + 0.3686271
—0.878129 — 0.5937031
0.286921 — 0.9760431

—0.24573 — 7.135691

1.290360 — 0.3686271
—0.878129 + 0.5937031
0.286921 + 0.9760431

—0.24573 + 7.135691

—1.296910 + 0.3523121
—2.56859 + 2.046841
0.28811 4 1.394951

—3.11175 + 8.831671

= —1.296910 — 0.3523121
—2.56859 — 2.046841
= 0.28811 — 1.394951

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
|

—3.11175 — 8.831671




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 1.365930 + 0.1048151
—0.439263 — 0.7219721
—0.463262 — 0.4940841

—6.91013 — 1.797111

1.365930 — 0.1048157
= —0.439263 + 0.7219721
—0.463262 +- 0.4940841

—6.91013 + 1.797111

1.322090 + 0.3732081
= —0.504347 — 0.2222531
—0.351613 — 0.7787111

—0.64388 — 7.428801

1.322090 — 0.3732081
—0.504347 + 0.2222531
—0.351613 4 0.7787111

—0.64388 + 7.428801

1.343220 + 0.3362891
—1.02775 — 2.215811
—0.05949 — 1.434351

—7.46754 — 6.501901

1.343220 — 0.3362891
—1.02775 + 2.215811
—0.05949 + 1.434351

—7.46754 + 6.501901

1.376590 + 0.1531681
—0.007356 4 1.1700201
—0.632070 + 0.3446761

—6.25872 — 5.479721

1.376590 — 0.1531681
—0.007356 — 1.1700201
—0.632070 — 0.3446761

—6.25872 + 5.479721

—0.501713 4 0.3519891
0.250347 + 0.0209301
—0.377876 + 0.3067391

—1.234330 + 0.2858951

—7.26902 — 0.130781

—0.501713 — 0.3519891
= 0.250347 — 0.0209301
= —0.377876 — 0.3067391

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
Il

—1.234330 — 0.2858951

—7.26902 + 0.130781
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Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 1.338950 + 0.3871281
= 0.548552 + 1.1673701
—0.746647 4 0.2611041

1.11467 — 11.467401

1.338950 — 0.3871281
0.548552 — 1.1673701
—0.746647 — 0.2611041

1.11467 + 11.467401

1.350930 + 0.3903691
= 2.24091 4 1.869911
—0.29851 + 1.408221

—4.2026 — 15.25881

1.350930 — 0.3903691
2.24091 — 1.869911
—0.29851 — 1.408221

—4.2026 + 15.25881

1.409670 + 0.0834151
—0.11722 — 3.165041
—0.16218 — 1.433031

—12.99120 4 0.431881

1.409670 — 0.0834151
—0.11722 + 3.165041
—0.16218 + 1.433031

u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b

—12.99120 — 0.431881

= 1.40588 + 0.164801
1.49179 + 2.959371
—0.23906 + 1.425981

—11.9190 — 8.65671

1.40588 — 0.164801
1.49179 — 2.959371
—0.23906 — 1.425981

U
a
b
U
a
b

—11.9190 + 8.65671

= 0.011339 + 0.4622131
1.055710 — 0.5453531
0.125209 + 1.2631101

—2.24513 + 1.956771

—0.38158 — 3.644831

0.011339 — 0.4622131
1.055710 + 0.5453531
= 0.125209 — 1.2631101

> & €| & £

—2.24513 — 1.956771

—0.38158 + 3.644831
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Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 0.260606 + 0.1839871
—2.74543 — 3.459981
0.215232 — 1.3415801

—3.38918 — 3.258801

0.46002 + 3.222631

0.260606 — 0.1839871
= —2.74543 4 3.459981
0.215232 + 1.3415801

—3.38918 + 3.258801

0.46002 — 3.222631

0.109980 + 0.2325841
—0.60353 — 1.968161
0.557633 — 0.0993721

1.189920 — 0.4422331

6.78124 4 1.287231

0.109980 — 0.2325841
—0.60353 + 1.968161
0.557633 + 0.0993721

U
a
b
U
a
b
U
a
b
U
a
b

1.189920 + 0.4422331

6.78124 — 1.287231
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ILIY=(b—-a—-1,a*+2a®>+3a+1, u—1)

(i) Arc colorings

o= (o)

(ii) Obstruction class =1

(iii) Cusp Shapes = 5a% + 6a + 5

13



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C7 U3
Cs
C3 u3 + u2 -1
C4 w—u?42u—1
3
Cs, Cp (’U, — 1)
9 (u+1)°
C10 w—u?+1
3 249 1
C11,C12 u” +u” + 2u+

14



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C7 y3
cs
€3,C10 v -y +2y—1

€4, C11, C12 P43yt 2y —1

Cs,C65 Cg (y—1)°

15



(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1(vol + y/=1C)

Cusp shape

u = 1.00000
a = —0.78492 + 1.307141

b= 0.215080 + 1.3071401

—4.66906 + 2.828121

—5.17211 — 2.417171

u = 1.00000
a = —0.78492 — 1.307141

—4.66906 — 2.828121

—5.17211 4+ 2.417171

b= 0.215080 — 1.3071401

uw = 1.00000

a = —0.430160 —0.531480 3.34420
b= 0.569840

16



ITI. u-Polynomials

Crossings u-Polynomials at each crossing

c1,Cs u?(u™ +21u™ + - -+ + 848u + 64)
2, C7 wd(u™ +u™ 4 12u 4+ 8)

3 (ud +u? — 1)(u™ = 2u™ + - — 60u — 9)

C4 (u —u? +2u— D™ +2u™ - —6u—1)
Cs, Co (u—=DHW™ —4u™ 4 fu—1)

Co (w4 D)™ — 4™ 4 fu—1)

10 (u® —u® 4+ 1) (u™ 4 18u™ + - - - + 560u + 49)
11, €12 (WP +u? 4+ 2u+ 1) (U™ +2u™ + - —6u—1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, cs v (y™ +59y™ + - - — 36096y + 4096)
¢, 07 P (y™ — 21y™ + - — 848y + 64)
€3 (1 — 92 +2y — )™ — 657 + - -+ + 162y + 81)
¢4, €11, C12 (v> + 3y + 2y — 1)(y™ + 66y +--- — 14y + 1)
¢s5, Cg, Co (y=1*)(y™ = 60y™ +--- +17y + 1)
c10 (2 — > + 2y — 1)(y™ + 697 + - - + 49882y + 2401)
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